

Alhambayo Danw (Ayobami)

16/ENG06/008

MECHANICAL ENG

ENG 281 (ENGINEERING MATHS)

$$\frac{(x^2 - \pi/4) \sin(\cos x)}{x - \pi/2}$$

$$y = x^2 - \pi/4 \sin(\cos x)$$

$$u = x^2 - \pi/4$$

$$dy/dx = 2x$$

$$v = \sin(\cos x)$$

$$\text{Let } u = \cos x$$

$$v = \sin$$

$$dy/dx = dv/du \times du/dx$$

$$= \cos u \times -\sin x$$

$$u = \cos x$$

$$= -\sin(\cos x) \cos x$$

$$y = uv$$

$$dy/dx = u dv/dx + v du/dx$$

$$= (x^2 - \pi/4) - \sin x \cos(\cos x) + \sin(\cos x) 2x$$

$$dy/dx = (x^2 - \pi/4) \sin x \cos(\cos x) + 2x \sin(\cos x)$$

denominator

$$y = x = \pi/2 \quad dy/dx = 1$$

$$- (x^2 - \pi/4) \sin(\cos(\cos x)) + 2x \sin(\cos x)$$

$$(\pi/2)^2 - \pi/4 \sin(\cos(\cos \pi/2)) + 2 \pi/2 \sin(\cos \pi/2)$$

$$\pi = 180$$

$$(\pi/2)^2 - \pi/4 \sin(\cos(\cos 90)) + 2(\pi/2) \sin(\cos 90)$$

$$- (\pi/2)^2 - \pi/4 \sin 90 (\cos 0) + 2 \pi/2 \sin 0$$

$$- (\pi/2)^2 - \pi/4 \sin$$

$$- (\pi/2)^2 - \pi/4 \sin 90 \cdot 1 + 2(\pi/2) \times 0$$

$$- (\pi/2) - \pi/4 (1) + 0$$

$$\frac{dy}{dx} = -(\pi/2)^2 - \pi/4$$

$$dx$$

2. Lim

$$x \rightarrow \pi/2$$

$$\ln \left(\frac{\exp(3x^2 + 2x + 1)}{x + 1} \right)$$

Factoring the Numerator

16/EXIG061008

$$\frac{(3x-1)(x+1)}{(x+1)}$$

$$(x+1)$$

$$3\left(\frac{\sqrt{3}}{2}\right) - 1$$

$$\frac{3\sqrt{3} - 1}{2}$$

1c $\lim_{x \rightarrow 2+\sqrt{3}} \cos\left(\frac{\sin^{-1}(x-2)}{x-\sqrt{3}}\right)$

$$\cos\left(2 \tan^{-1}\left(\frac{x+\sqrt{3}-1}{2+\sqrt{3}-\sqrt{3}}\right)\right)$$

$$\cos\left(\sin^{-1}\left(\frac{\sqrt{3}}{2}\right)\right)$$

$$\cos(0.8660)$$

$$\cos 60 = \frac{1}{2}$$

1d $\lim_{x \rightarrow \sqrt{4}} \frac{(x^2 - 8x + 16)}{(x^2 - 5x + 4)}$ — Undefined

$$\lim_{x \rightarrow \sqrt{4}} \frac{(2x - 8)}{(2x - 5)}$$

$$= \frac{8-8}{8-5} = \frac{0}{3} = 0$$

2a) $\frac{2}{2 \times 3} + \frac{2}{3 \times 4} + \frac{2}{4 \times 5} + \frac{2}{5 \times 6}$

$$u_n = \frac{2}{(n+1)(n+2)}$$

$$u_{n+1} = \frac{2}{((n+1)+1)((n+1)+2)}$$

$$u_{n+1} = \frac{2}{(n+2)(n+3)}$$

using 1) Albert

$$\frac{u_{n+1}}{u_n} = \frac{2}{(n+2)(n+3)} \times \frac{(n+1)(n+2)}{2}$$

$$\frac{u_{n+1}}{u_n} = \frac{n+1}{n+3}$$

16/11/2006/005

~~$\frac{\ln n}{n}$~~

$$\lim_{n \rightarrow \infty} \frac{(n+1)}{(n+3)} = \frac{\left(\frac{n}{n} + \frac{1}{n}\right)}{\left(\frac{n}{n} + \frac{3}{n}\right)} \quad \begin{array}{l} \frac{1}{n} \rightarrow 0 \\ \frac{3}{n} \rightarrow 0 \end{array}$$

$$= \frac{1+0}{1+0} = \frac{1}{1} = 1$$

Therefore it's inconclusive

$$\frac{2}{1^2} + \frac{2}{2^2} + \frac{2}{3^2} + \frac{2}{4^2} + \dots$$

$$u_n = \frac{2}{n^2}$$

$$u_{n+1} = \frac{2}{(n+1)^2}$$

$$\frac{u_{n+1}}{u_n} = \frac{2}{(n+1)^2} \times \frac{n^2}{2}$$

$$\lim_{n \rightarrow \infty} \left(\frac{u_{n+1}}{u_n} \right) = \frac{n^2}{(n+1)^2} \times \frac{n^2}{2}$$

$$\frac{u_{n+1}}{u_n} = \frac{n^2}{\frac{n^2 + 2n + 1}{n^2}} = \frac{1}{1 + \frac{2}{n} + \frac{1}{n^2}} \quad \begin{array}{l} \frac{2}{n} \rightarrow 0 \\ \frac{1}{n^2} \rightarrow 0 \end{array}$$

$$\frac{u_{n+1}}{u_n} = \frac{1}{1+0+0} = 1$$

Using comparison test

$$\frac{2}{n^2} < \frac{1}{n^2}$$

$$\frac{2}{1^2} < \frac{1}{1^2}$$

$$2c \quad \frac{4n + 2n^2}{1 + n^2}$$

$$u_n = \frac{1}{n^2} + \frac{2n^2}{n^2}$$

$$\frac{1}{n^2} + \frac{n^2}{n^2}$$

$$\frac{1}{n^2} = 0$$

$$\frac{1}{n^2} = 0$$

$$= \frac{0+2}{0+1} = \frac{2}{1}$$

Therefore the series is Divergent

$$3 \quad \frac{x}{27} + \frac{x^2}{125} + \dots + \frac{x^n}{(2n+1)^3}$$

$$u_n = \frac{x^n}{(2n+1)^3}$$

$$u_{n+1} = \frac{x^{n+1}}{2(n+1)+1^3}$$

$$u_{n+1} = \frac{x^{n+1}}{(2n+2)^3}$$

$$\frac{u_{n+1}}{u_n} = \frac{x^{n+1}}{2(n+2)^3} \times \frac{2(n+1)^3}{x^n}$$

$$\frac{x^n \cdot x^1}{2(n+2)^3} \times \frac{2(n+1)^3}{x^n}$$

$$= \frac{x(n+1)^3}{(n+2)^3}$$

Expanding the bracket

$$x \left(\frac{n^3 + 3n^2 + 3n + 1}{n^3 + 6n^2 + 12n + 8} \right)$$

~~→ x~~

16/ENG06/008

$$= x \left(\frac{n^3}{h^3} + \frac{3n^2}{h^3} + \frac{3n}{n^3} + \frac{1}{n^3} \right)$$

$$\frac{n^3}{n^3} + \frac{6n^3}{n^3} + \frac{12n}{n^2} + \frac{6}{n^3}$$

$$= x \left(\frac{1 + \frac{6}{n} + \frac{12}{n^2} + \frac{6}{n^3}}{1 + 0 + 0 + 0} \right)$$

$$= x \left(\frac{1 + 0 + 0 + 0}{1 + 0 + 0 + 0} \right)$$

$$x \left(\frac{1}{1} \right) = x$$

$$-1 < x < 1$$

for $x < 1$

$$-1 < x < 1$$

$$u_n = \frac{1^n}{(2n+1)^3} < \frac{1}{n^3}$$

$$\therefore -1 < n \leq 1$$

for $x = -1$

$$\frac{-1}{(2n+3)^2} < \frac{1}{n^3}$$

$$\frac{1}{(2n+3)^3} > -\frac{1}{n^3}$$

$$\therefore -1 \leq n \leq 1$$

16/EN606/008

$$\lim_{x \rightarrow 0} \left(\frac{\sin x - \cos x}{x^3} \right)$$

$$\left(\frac{\sin(0) - \cos(0)}{0^3} \right) \rightarrow \text{undefined}$$

$$\frac{d}{dx} \left(\lim_{x \rightarrow 0} \left(\frac{\sin x - \cos x}{x^3} \right) \right) = \frac{\cos x + \sin x}{3x^2} - 0$$

$$\frac{d}{dx} \left(\lim_{x \rightarrow 0} \left(\frac{\cos x + \sin x}{3x^2} \right) \right) = \left(\frac{-\sin x + \cos x}{6x} \right) - 0$$

$$\frac{d}{dx} \left(\lim_{x \rightarrow 0} \left(\frac{-\sin x + \cos x}{6x} \right) \right) = \left(\frac{-\cos x - \sin x}{6} \right)$$

$$\therefore \frac{-\cos(0) - \sin(0)}{6} = \frac{-1}{6}$$